Assignment

ID: 1

Solve each equation. Remember to check for extraneous solutions.
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Answers to Assignment (ID: 1)
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Assignment

Name

ID: 2

Date Period

Solve each equation. Remember to check for extraneous solutions.
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Answers to Assignment (ID: 2)
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Assignment

Name

ID: 3

Date

Solve each equation. Remember to check for extraneous solutions.
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Answers to Assignment (I1D: 3)

D _3’2 2) {24} 3) 1 4) {-1,1}

5) i143}} 6) {55 1 } 7) ‘%0}} 8) {El‘}‘}

) 10 10) {-2,-10 1 [ 54 12) {-6

13){31_1} w (4 15) il,@i 16) {5, 2}
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17) {—%} 18) {—%,2} 19) {16,%} 20) {%}

21) {-8,5} 22) {-4,1} 23) {6,2} 24) {-1, 5}
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ID: 4
Name

Assignment Date Period

Solve each equation. Remember to check for extraneous solutions.
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Answers to Assignment (ID: 4)
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6) {-9, -6}
10) {5?6 —4
14) {-7, 1}
18) {-2,7}

22) {24}
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Assignment

ID: 5

Solve each equation. Remember to check for extraneous solutions.
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Answers to Assignment (ID: 5)

AT I B
5) {7,-1) 6 3.2} 2 -] 8) (-2.-6)
9) {-2,-3} 10) {5?11_1} 11) {-19, 4} 12) {-3}
13) {_%} 14) {Q} 15) {-1, 1} 16) {-9, -3}
17) {-2,-8} 18) {1,7} 19) {_2’2} 20) {5, 1}
21) {-2} 22) {-1,1} 2) {i,—l} 24) {1}
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ID: 6
Name

Assignment Date Period

Solve each equation. Remember to check for extraneous solutions.
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X X X“ + 6X n“+8n n+8
2 8k — 24 TX+7 4x — & 8
16) - +k+5 17) ———— B -
k+2 k+2 X° + 8X° + 15X X+ 8X“+15x X+3
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Answers to Assignment (I1D: 6)

2) {-4,2}
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3) {0, 5}
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4) {-3,-7}
8) {9, -6}

12) {_2, _2}
3
16) {-16, 1}
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Assignment

ID: 7

Solve each equation. Remember to check for extraneous solutions.
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+
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Date Period
1 vZ+10v+21
2 1=
Y, Ve —3v
b’+7b+10 1
4) > — =
b —7b b
8 X2+ x-12
6) 1= 5 +—
X —=7x+ 10 X =7x+ 10
8 1
8) =

1
10) — +
X

m? +2m — 35
m? —7m

m+2_ 7m —42

12 = +
) m-7 m?>-=7m

1
rP—5r r+4

14) !
r*—r?—20r

1 _n—4

16) 1 +— =
n“+4n-5 n-1

b” - 16b + 64 214
b b
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1 k+5
1
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1 x+2 1 n+5
24) 3 =— -
X+3 Xx+4 n“+6n+8 n°+6n+28
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Answers to Assignment (ID: 7)

e T BT S C BT
5) {-9,-5} 6) {1} 7 {_ﬁ} 8) {1,-7}
9) {_%} 10) ?12} 1) {14_?} 12) {11}
S 1 o BT o
17) {-1} 18) {5, 10} 19) {6, 14} 20) {_l}
2
21) {—13—4} 22) {6%} 23) {—13—0} 24) {_1?5}
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Assignment

Name

ID: 8

Date Period

Solve each equation. Remember to check for extraneous solutions.

L2 —4x—48  x*+2x-48

1)1
5x 5x
3 n?+3n-18 1
3) 5 = 5 +
n-+5n n-+5n n+5
1 5 r+7
5)

= +
r-7 rP—er*-7r r*-6r-7

1 vV -3v-40

7 = -1
)v2—7v vZ—7v
2 2
X —=9x+20 X°—5x+4
9) + =4
3x 3X
a+3 a’+35a 5a
1) 22 _a o,
3 3a+18 3a+18
-6 5p-20
13) P +— P =
p+4 p°-4p-32
X2+ 13x+42  x-1 1
15) 3 = +—
X + 8X X X + 8X
1 12X+ 3
17) =1+—
X+ 8 8X" —56x—64
8 1
19) — + =1
r“+2r-8 r-2
1 1 6x% + 12X
21)

= +
X—4 4x>2—17x+4  4x*—17x+4
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1 2_7p-8 1
P p-8 _

p’-3p>  p’-3p° p-3

2)
nZ-3n+2 3 5

4 + =
) n?-25 n-25 n-5

m* +2m - 35 8
6) —5 ,— =lt 5 —
m* +4m m” +4m
1 2

8) 1- =—
b+6 b+ 12b+36

1 k+8
kK2 +7k  k*+7k

10) 5+

1 x? —11x +28 1
= +

14
) X—3 X2 —X—6

X2 —Xx-6

16)

8 n+2 1
n n*—12n*+36n n’>—12n%+36n

3 m-8
m—-1 m+3

18) 6 —

7n% —63n + 126 n’ - 36
=1+

20)
4n + 1 4n + 1
8b? + 8b — 48 1
22) = ° 1+
b>—b-56 b-—8
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6 2V +4
V2 + 4y v

n+6 1
3n+6 3n+3

5 1
23) = 24) 3
v 3
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Answers to Assignment (I1D: 8)

1) {1} 2) {1} 3) {~7.3}
1) O %) idn

9 1,12} 10) {g} 11) 18]

13) {12} 14) {9 15) {_ 4_9}
17) {%} 18) {% —5} 19) 14,5}
b we) e
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4) {-2, 10}
8) {—4,-7}
12) {%}
16) {%,7}
20) {23—3%}
o

math-worksheet.org



Assignment

Name

ID: 9

Date Period

Solve each equation. Remember to check for extraneous solutions.

1 1 5
= +
k+4 k+5 k>+4k

1)

n+6 n*+4n-12 8

nR-9n+8 n*-9n+8 n-38

n+6 l 5
n?—35n

7)

f—_—
n n’>-=6n’+5n

1 X% + 12X + 32
g)____lz_i__i__
X—1 X—1

1

X% + X

1
11) —+1=
X

2

r“+7r+6 2r+16

13) 3 = -1
r—r r-1

1 1
a’-4a a a’—1la®+28a

19) +N+6

An—3 4n-3

b+38 1
=1

21) =l+—F——
b+1 b +3b+2
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2
X° —TX 1

2) + =1
X—06 X—6

4)

1 7a+49 6a+30
2 t3 -
a —a a —a a

p’+13p+42  p+7
p’+2p p’+2p

6) 1=

&M+ 32
m+1

m+5 1
2 T2 +
m —-5m-6 m " -5m-6

8)

m+1 m>+10m+24 m+7
10) + =
2m 2m 2
1 2 1
12) =

VA3V viae3v? o v+l

1 _x+1 6
X—1 X-=7 xX*—8x+7

14)

k% + 3k — 4 1
1 K 3k=d0 1
2k k

1 s
n>+5n n?+5n

18) 1 -

2
X" =7x+10 X—=7 X—4
20 = +
) x> — 8x? x> —8x?  x?-—8x
1 1
22 = +1
)mz—m m-1
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2
rr-r-2 1 8 x-3
- 24)
r+4 r+4 X+3 X+3

23) r—2 - =2x+7
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Answers to Assignment (I1D: 9)

I T
AT = N+
9) {-10, -3} 10) {_2_5} 11) {-2}
13) {%} 14) {0} 15) {6}
17) {—%} 18) -6 1] 19) {—24—5, 1}
wfE B e

2 gagsgs path-wersheeh.ory

)[4

o[£

12) {-2, 1}
16) {-14,3}

o)
24) {2, -4}
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Assignment

Name

ID: 10

Date Period

Solve each equation. Remember to check for extraneous solutions.

1 V-5v-14

1) 1+
) vi-v vi-v
2
X" —=TX+ 12 X—6
3) x-3= +
X+2 X+2
5 2+ a’-1la+28 a+7
a—1 2a-2  2a-2
X+ 8 1 X+ 8
7) =— +
X+5 X +6X+5 X+ 1

m-2 1 1
9) —4M +—=—
dm-24 4m 4
2
-2p-24 1 1
11) p zp ::P+ L
p —p p p
b-2 b-3 b’>’-2b-15
13) == + 5
b+2 b“+2b b +2b
2
X +3x-10 7 1
15) - =—
20X 10x 4
2X—16 5X+5 6
17) =— +—
X+5 X“ 4+ 5X X“ 4+ 5X
n-1 1 1
19 = - —
) 5n2+5n 5n*+5n%> n?
1 1 5a
21) — — =
4 2a+16 4a-24

LT wsgsgs ath-vsorlsheel ory

2)L—(4b+1)=

b+3 b+3
Xx—1 1
4 1- =
) 3x2 X?
n-1 1
6 —1-—
)n2—2n
8k — 8 k-8
8) =1-
k+5 k+2
n-4 n+4 1
10 =
) n n-3n n’-3n
1 n—5_ n-4

2 + - 2
n“+10n+16 n+2 n"+10n+16

r-28 r+5
16) — + =1
r<+2r r
vi+5v—14  8v+40 2
18) 2 2 =
ve—1 v -1 v+ 1
X+4 3
20) 1= - =
X—3 X"+ x-12
1
22)1——=2
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X —4 4 X2 —11x + 24
+

B b? +4b +4
x X2+ 4x X% + 4x

23
) b2 + 6b

24)l+1=
b
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Answers to Assignment (ID: 10)

2]

6) {31}
10) {1,7}
14) {1}

18) {-4,-7}

22) {24
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12) {-7, 5}
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